EJERCICIOS COMBINADOS Cada uno de ellos se ird resolviendo segun la indicacién de la
sefo.

25+6x(18-16)+(9x8)=

12x(7+2)+(45-32)+8=
3x6x2+54-(3x3+2)=

(7x5)x2+4x8-(78+15)=
98-45+(56:8)-(12x2+7)=

81:9+12-6+(7x9)+11=
64:8+9-(2x3+1)x2+35=

21:3+7-5+(45:5)+9=
5+(42:7)+18-(4x2)+46=

6+(63:7)x2+14-(78-65)= 9-5x8+(54:6-5)+3-12=

14x2+4-(97-86)+45= (89-8):9x(40:8)+31=

9x3+(24:8)x2=
3x5+(18:6)+2x3=
4x7+(136:8)-6+(27-9)x2=

5+3-4+(6x7)-(18:3)=
195:6+(8x9)-53+(3x5-7)=
(72:9)+3-5+(4x5)=

35X(126)-52+(328)-9: 100-52-(56‘-7)+13:

4x(50:5)+15-(6x3+8)-16= 6-4x(54:6)+18-(2x3)=

7x(48:8)+(27:3)-5x2=
76:4+6x(24:12)+15-(2x7)=

6+6x4+(65-42)+6x3=
12x3+25-(8x9)-17+(47-32)= x4+ )+6 x

4x3+(64:8)-15+(5x7)=
70-56+(35-23+4)-(6x8)=
63:7+(12-8)x(5x2)-18+4=
12+(50:2+5x6+3-16)+7-5= 58-4+(64-26)+(4x3+6)=
15:3+(18x3)-16+(4x8)+5=
98-87+(35-6)-(84:6)+9=
5+(40:8)+8+(57-41)-16=

23+12-26x(45-42)-13+(8x4)=
7x8+9x9-(85-72)x2=



